. Axoje a= 70, b=—5 wuspadyna; :

) a:7- b ’¥o ?-(-5 )= to+5 =[15)

) (b-a):(-b)= (~5-F0): (~(-5) =(-#5):5 =[-45]
3) -a: b b( b)=—%F0:(-5)—(~5): (~(-5)) =44 ~(-5):5214-(1)=
. VspauyHaj Bpeoct mspasa (6-a—5-b):(~b) axo je 14+ :-’]

D ded oz (GENBAN(EE)(-24-10):C2Y. -3); 2)1H

%) a=4, b=-2 (6 h—-5.(-2)): (-(~2_3\ Dl Aoy} 12 =
=(2.h+10):2=%4:2 =|}F

. M3pauyHaj BpeAHOCT U3pa3a,

o e ;
) 2a+3b-12= 9. C—G)+Q A ==1246-12=-C -12 =[— (&

2) _Sg_dbigb= ~5:-8 b2~ C—G) 2= 30-9-(—12)= 30-9+{1L=|dY

=

ako ja d==6 h=_.

. Axo je m=—0, u3padyHaj BpeIHOCT H3pa3a:

) mim= —G+(-6)=[=12)
2)m-m+m=(-6)-(-6)+(6)= 36-8 =[30|

3) 3mim’ =3, (—e)+(-6)= ~18+24 =[12)

Y mim-m= -C : -6)~(-8)= 4 -3¢ =[35)

. Axoje m=-1, n=10 u p=-5, u3pauyHaj:

) nim-m-n= 0% 1) m@ e ks (—10)=-{0o+1O =[C—D_—|_
2) n:p-mn= 10" (=5)=-(~1) 40 = =2 = (=10)= -2+10 =[F

3) (n-p):m=(10-(-5): )= (41045): () =45:(-1)=]=15]
4 pim+pm=2==5: )+ (-5) (-1)-2 = 5+5-2 =[ 2 )




